EFE
o
2[5

I AN Y T T AN AT T T Y N N N Y N AN A Y Y AN AN Y Y AN AN Y ANV AN AN AN ANV ANV ANV ANV AN AT AN AN AN AT AT AN AN ANV AN AN AN AN ANV AN AN AN ANV AT AN AN ANV AT AT ZANTZANTZANTZANT 7 QQ

afo KoK
TR0 S

AT NININ NI AP NPT AN NN NI IS PPN SIS AI NN AT AT INAININAINAININININPSPSTINPNTI AN
QVD K awﬁw\m\w\\[/’w}\wmd\w\w&w\ AR, {)Q(/\\{/\\{J’\x{)\xﬁk\ﬁk\ﬂ\\ﬂqﬁ\xd\wk\(}\\{) w\wnﬁ\w\xmd\w)\\y\y}\w&wk\(}w}u(Jmpmﬂkxﬁkxﬁmﬂmmﬂ\\ﬁnd\\f/’ma\w\wmﬂ\w’\\ K
QAT RIS AR KA

OAD S¢%¢

63

Vv
RIS
VY . 3
v 738]7}%6 Hﬂa aué
YRy .

%% Time allowed : 3 hours Maximum Marks :

T2V VNN TNV TS TN {JK\(/K\[}K\(]\\J)Y\(}\\(’\x[K\{/K\ﬂ\\{JK\(/\\( QNI VININTNTNTNT ST NTN TN T K\ﬂ\\ﬂ\\d\\ﬂ\\(f TNV NTNTNTNTNTNTNT TN TN TNTNTNTNTNTY
NN NN NINTNINTNININTNTNINTININTNINTNINTNINTNINTQOINTNINTQOINT NIV NINT VI NININININT COINTCNINT NI NINTNINTNINTNINTNINTNINTNINT VTN %v
ZINTZNVZNTZNTZNTZNTZNVZANTZNTZNTZNTZNTZNTZNYZ iK\{iK\f}\m{ik\ﬂ\\ﬂ\W\\ﬂ\\[J\\ﬂ NZNVZNVZANTANVZNVZNVZNTZANNZANZNVZNZNVZANTANANZATZNANTZANANZANTZNVNVANTANVZANTZNVANZNTZANTANTZNVZNTZNTZINTZNTZNY

. Series EFGHE u] ! [u] Set-4
IR -
e Q.P. Code

NN/

S0 T F. I I I I I I I Tlierefl Se-u 1S ol IT-YIEdeh %
68 Roll No. -8 4L 3Ry e |

Candidates must write the Q.P. Code

on the title page of the answer-book.

AR (SgTeh)
PSYCHOLOGY (Theory)

AT A= B A o H Ie-97 H Hiod 48 23 @ |
wwﬁa%ﬁaaaﬁaﬂ?&qmwwﬁgﬁqﬁmﬁwﬁaﬂ%s
7@-98 W ford |

AT = B foh 9 TH-IAH 36 I @ |

FHUAT T HT I TG IE 1 | ugel, IW-YREdent T U9 61 HHTH
srava o |

T TH-OF Wl 9ed o T 15 fiee o wme fen g | weA-ad o6 faa
qatE H§ 10.15 St fohan SI@m | 10.15 S91 § 10.30 S de B A -
Waﬁq%ﬁaﬁ?wmﬁ%?ﬁrmésmglwwwwssduslﬁi@ﬁ

Please check that this question paper contains 23 printed pages.

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.

Please write down the serial number of the question in the
answer-book before attempting it.

15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TZANTZINVZ/NVANYZAVZINTZN

SHTT 37 : 70 55

%

%ﬁb

A\ NN TUINININTNTNINININTSINININTNINT NPT QINTNINTY, /l\\[/k\z)\\to
[/\E(J\\[JM\\{I\:[}\X[/\EH\\HW/\\(J\X[)\\U\W\\(J\\[/Q{J\\{J\E[J\\{JQ()\\(J\ld\\ﬂh{/\\ﬂhﬂ\x(}\\(/\\ﬂ\\ﬁhﬂ\\ d{/\\[)\}[)\\(/\ifl\\d\d{)\\Q\Eﬂ\\()\iﬂ\x{/\\{/\\(/hﬂhﬂ\dﬁ\)ﬂ\\{}\!ﬁ\\{/\\(/\\(l\xﬁ&\(/h{h(/\\ﬂ\x{)\\ﬂh{/&\

Page 1 of 23 P.T.0.

Previous Pathshala




EE
=

T 4397 :

(1)
(ii)

§729)

(iv)

(v)

(vi)

(vii)

63

57 3931 7 37aRe fasheq 30 79 & 377 oiswt @41 y97 Hfdard & |
GUE & : J97 &1 1 & 18 § I & 1070 1 37 17¢TRT & | 37798 Hewgar I
g7 @ 98T FH1 Tt & |

QU & : Jv7 T&IT 19 @ 23 37l Tg-3717 2139-1 F97 &, 578 9% & fore 2 31
fAEiRa & | Icdeb J97 &7 3¢ 30 Isgl & 37fereh 757 5171 F115T |

QU T : Y97 G&IT 24 & 27 TY-I70% 2159-11 I97 &, 578 Fde & 17w 8 31
Reffa & | 3% F97 F71 IR 60 ¥151 7 3A%F 75 &1 T /|
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(a) fToordiera
(b) T
(c)  HM=Tehd
(d) AEETR
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General Instructions :
(i) All questions are compulsory, except where internal choice has been given.

(i)  Question Nos. 1 — 18 in Section A carry 1 mark each. You are expected to
answer them as directed.

(iti) Question Nos. 19 — 23 in Section B are Very Short Answer Type-I
Questions carrying 2 marks each. Answer to each question should not
exceed 30 words.

(iv) Question Nos. 24 — 27 in Section C are Short Answer Type-II Questions
carrying 3 marks each. Answer to each question should not exceed
60 words.

(v) Question Nos. 28 — 31 in Section D are Long Answer Type-I Questions
carrying 4 marks each. Answer. to each _question should not exceed
120 words.

(vi) Question No. 32 in.Section E is a Long Answer- Type-II Question carrying

6 marks. Answer to this question should not exceed 200 words.

(vii) Question Nos. 33 — 36 in Section F are based on two case studies given.
Each case study has two questions carrying 2 marks each. Answer to each

question should not exceed 30 words.

Section A

1. Vijay’s parents are confused as to what subjects should he choose in
Grade 11. To know where his strengths lie, the School Counsellor
suggested that he take an aptitude test. What form of aptitude test do
you think would be given to him ? 1

(a) Specialised
(b) Independent
(c) Generalised

(d)  Vocational
63 Page 3 of 23 P.T.0.
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(a)  ETHTNTRAT
(b)  WEEATYAT
(c)  dfAehraTyan
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(i) e
(i)  HHEIN®
(i)  HTRETEh

IR ELIR:ED
(a) (i) 3 (iii)
(b) (i) 3 (iii)
(¢) (iii) 3T (iv)
@ ()3 (@Gv)
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“TeeeraTd’ et Uge U1 od 2 | 39 foRives shi qg=m i |

(a) oM
(b) T
(c) gl
d Y@
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There are some people who are hostile, egocentric and antisocial. They

are said to be high on . 1
(a) Sociability

(b) Psychoticism

(c) Neuroticism

(d) Introversion

The self that values family and social relationships is referred to as

(1) Personal
(11)  Social
(ii1)) Familial
(iv)  Relational
(@) (1) and (ii1)
(b) (1) and (ii1)
(c) (ii1) and (iv)
(d (@) and (iv)
Some traits often get associated strongly with the name of the person and
derive such identities as the ‘Gandhian’ or ‘Hitlerian’ trait. Identify the
trait. 1
(a) Central
(b) Secondary
(c) Surface
(d) Cardinal
Page 5 of 23 P.T.0.
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ffeifgd § O -8 Y <o1d &1 IHF1 6 & a) § &t 77 & 2
(i)  ®THAT T (coping) TaTE o Ufd Teh Teateneh fefa-fafsme ufafsran 2 |
(i) 8 corayel feufat o wemet & gfa g Gftad g sframedt @

qI=d gl 8, TOehl 3¢ THEI] 1 THIYM ST a1 gaTd i A

AT BT 8 |

(i) T SARFAT 6 @ HT FEAT FE h GHAT FAAR Bl 8, ITH TR
®Y W T8 B Tt HiRHIeT 6 fawrhar few Bl 7 |

(iv) oIt qemaqul feufadi 1 amar T i IJREA § FHHA SGRia. hid
2|
(a) (i), (iii) 3 GV) (b) had (iii)

(¢) (i) 3 (iii) (@ ()3T (i)

e g hl A alcfl - STEdideh  STURTSN % HNUl WA W
ST -STATARYT AT G0l & | 98 STOHT Atentl 3R =] Hid T Fgad s -
i B A @Al | Ul P TEHl ° IWh! qeFa 3 A8 ft | 98
fafercdia St & faw 718 3R 9a1 =en o6 30 3= WA 8 | 9T STJ%ha
TALU o ATER VHT fohe TR W BIa1 8 2

(a) G=d gfdfskan (b) Sfaqw
(¢c)  ufernfa (d) o™

IHm g =S W Uel ST =1edl & | I&f doh foh 98 9 ol eo1d hiehl skl 9Tl
HAT 2 3 A I Teprdr 2 | I8 fpg ThR <l 3798Rk 37ed 2 2

(a) Toegla
(b) URER
(c) Tadsm
(d)  YoidreTg
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Which of the following statements is not true about coping with stress ?
(1) Coping is a dynamic situation-specific reaction to stress.

(11) It is a set of concrete responses to stressful situations or events

that are intended to resolve the problem and reduce stress.

(111) People who cope poorly with stress have high level of natural killer
cell cytotoxicity.

(iv) Individuals show similarity in coping strategies that they use to

deal with stressful situations.
(a) (i), (i1i) and (iv) (b)  (iii) only
(c) (i1) and (iii) (d (1) and (1)
Meena’s work environment 1s highly stressful due to wunrealistic
expectations by the organisation. She had been trying to balance her job
as well as her home front. Since the last few months, she was not feeling
well. So, she went for a check-up and was diagnosed with high blood

pressure. According to General Adaptation Syndrome, at what stage does
this happen ?

(a)  Alarm reaction (b) Resistance

(c) Exhaustion (d) Adaptation

Wasim is always brushing everything under the carpet and refuses to

face the stressor or even accept it. Which kind of unhelpful habit is this ?
(a) Forgetfulness

(b)  Avoidance

(c) Procrastination

(d) Perfectionism

Page 7 of 23 P.T.0.
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M@Edl-gaTd Hisd o R § =fafagd ® & SH-A/HH-8 % 8 a/a ?

(1)
(ii)

(iii)

(iv)

(a)

(b)

(c)
(d)

% SAfdeh qued 1 gH1, 1 SRIFTd 8l 9hd @ |

ST gl 3R God o FASH o BRI ARG R forehféd aid

fohrll fdeeTenl o TIAMEAT BH o HRUT TG TRl T T &l
Hhell B |

el (1) TE R |

(i) 3 (iii) @& & |

Fad (i) ¥ 7 |

(ii) 3R (iv) F&T &

$S AN Gg Bl o= FER A SH-gR UH SR i &8 T8 T 9 &, S

3Tk ek HIHHNI bl YA hld 8.1 1 @ H fcErs & I a8
&3

(a)
(b)
(c)
(d)

3HTE 3TF9Te fIehi
AT o

FIRreh 2AfTereIur fashr
AfEg-smerar far

Teh H-aY1a STctsh, WTgehal, UH fIehR & & I TR ST&f 3§ fordt SIHepr) aht

gdlehdl 9 Al ¥ THe o FETd i T Hie$ Bt 7 | 368 IHb TS,
fofE 3 T & & gHAEl HIvdl W I9E 98dl 7 | 39 foeR 6l ugem
HITT |

(a)
(b)
(c)
(d)

I T Juish foehi
Sifgeh ST

faferse stferm forepr
AL HAfdishar foehr
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Which of the following statements is/are true about the diathesis-stress

model ?

(1) Presence of some biological aberration which may be inherited.

(11)  Physiological disorders develop due to combination of psychological
predisposition and stressors.

(111) Diathesis may carry wvulnerability to develop a psychological
disorder.

(iv)  Absence of pathogenic stressors that may lead to psychopathology.

(a) Only (i) is true.

(b) (1) and (111) are true.

(c) Only (111) 1s true.

(d) (11) and (1v) are true.

Some people are unable to prevent themselves from specific ideas or from

repeatedly carrying out. a set of actions' that disrupts their daily

functioning. These people are showing symptoms of

(a)
(b)
(©)
(d)

Manic depressive disorder
Panic disorder
Somatic symptom disorder

Obsessive-compulsive disorder

Michael, a 10-year-old boy, was diagnosed with a disorder where he has

difficulty in perceiving and processing information accurately and

efficiently. This impacts his basic skills of reading, writing and doing

mathematics. Identify this disorder.

(a)
(b)
(©
(d)

Autism spectrum disorder
Intellectual disability
Specific learning disorder

Attention-deficit hyperactivity disorder
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frfafga gea O s1fiepreq (A) T 99 3R 39 91 dh (R) 1 kA fean
TR | (a), (b), (c), (d) | & T foepew T |

S7IHIT (A) :

7% (R) :

GHTcHs fafehedt o AR, 99 H IHER R 9uml g
TgO NS dTcieh H o Afafd oMl A1 A WhAT o €9 H
fopfaa & wd 8, TH =afe o favame ot fohen & wfaew
qfefed & 2 |

39 Taforea o stfaaeh! favama qaad! wreATstl 3R Ik aiommi
o o9 WEIEydl i © |

(a) AR (A) AT T (R) TH |&l 8 3R @b (R), Nheq (A) T =&t
T 2 |

(b)  SATTHAA (A) AT @b (R) GHI Tal s, TGg e (R), TR (A) i Tt
=T 7gt 3 |

(c) AR (A)FE! 7, Wifehd @eh (R) Teld & |

(d) AR (A) TId 8, Afeh deh (R) Tal 81|

fifcaer wep Tafehean e w1'R, S8l 38 39 i Sfshanedi 3 wreHredt i
TgaHAT fa@rn S w1 8 Sl S9hl ArTEhdr # 3TRg 3 © 3 | I8l -

ferfepcan 3o <At o1 @i 8 2

(a) Hareffopfga fafercan (b) 3geigsh ffhca
(c) HFMIcH® uagR fafercan (d) TEeree faferean

TETE I G o TIC TGRS TRty i foham a2 2
(i) <Yl S¥EER g % forg

(i)  3TRell TGN o TNUMTHT HiHAT I GiSH o T
(iii)  GrYYUl ATETH & qad] sl TgaH B o T
(iv) QoYU TRATH i SH1T W Tt HEhI hl T8 i oh TOIQ

(@) (), (ii) 3 [Gv) (b) oA (iii)
(¢) (i) 3 (iii) @ @) AR (1)
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In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Select the correct choice from (a), (b), (c), (d).
Assertion (A) : According to cognitive therapy, childhood experiences
provided by the family and society develop core schemas
in the child which include beliefs and action patterns in
individual.
Reason (R): In this therapy, irrational beliefs mediate between
antecedent events and their consequences.
(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is
correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
Ritik 1s undergoing a therapy where he is being taught to recognise
bodily processes and.the emotions that are being blocked out from his
awareness. Which therapy is being applied here ? 1
(a) Client-centred therapy (b) Logotherapy
(c) Cognitive behaviour therapy (d) Gestalt therapy
Why is behavioural analysis conducted to overcome stress ? 1
(1) To find malfunctioning behaviour
(11)  To find the consequent operations of the adaptive behaviour
(111) To identify the antecedents of faulty learning
(iv)  To identify factors that maintain faulty learning
(a) (1), (1i1) and (iv) (b)  Only (111)
(c) (1) and (111) (d) (@) and (11)
Page 11 of 23 P.T.0.
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14. frafafed g9 @ i (A) &1 Fo 3R Ik a1¢ dh (R) &1 e T
T2 | (a), (b), (c), (d) T & T&t fashew Ffw |

SfYHT (A) :  FITCHS A 1 319 7 b Afgld o o 31 Feshi &l foaadia

fosm & g7 =nfzu |
7% (R) : I I T TeH diicheh ®Y ¥ Tesh THMH Tal &, dl Ffth Teh JhR
Sl Tfeh STgfaYT 1 IS HLAT 3 |
(a) AMTHYT (A) TAT T (R) THI T&t & 3 b (R), AR (A) i Tl
T 3 |
(b)  SATTHAA (A) AT Wb (R) GHI T&! 7, g ah (R), TR (A) sl Tt
e TET @ |

(c)  3IMMHAA (A) Hal B, WAl doh. (R) T 2|
(d) AR (A) T 8, Sifsh doh (R) T2 |

15. ohictol § AT o H&l § q1Y T ITed, Th (O Jew & HarHl, B ol SHa8r
3He fd e o eyl uT | 1R 57 Tew IRy &% el ¥ T
HAT 8 T & 32 Aehdl I-Hh Bl 8 | 38 oiflal & o 39 T & &t 8
T 1 31vmE 2 | 9% 3ee ©

(a) &d: 9i¥9eh Tirsifh

(b)  EF ohl YR dd

(c)  SfeT T ST SAMI

(d) @IS g3

16. T=fgd # & gl giedd &1 $R o-4 Il SH-AT HRh 73T

3 ?
(a) e s fomryand
(b) el fomyaTd
(c) @rd <l foryard
d) &g H fomame
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In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Select the correct choice from (a), (b), (c), (d).
Assertion (A) : Cognitive consistency means that two components in an
attitude system must be in the opposite direction.
Reason (R): If the two elements are not logically in consonance with
each other, 1t leads to distress in the individual.
(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is
correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(c) Assertion(A) 1is true, but Reason (R) 1s false.
(d)  Assertion (A) is false, but Reason (R) is true.
Ashwin’s roommate at college, who belonged to a particular State, was
always rude and selfish towards him. Ashwin now does not befriend or
employ people from this State as he feels that they are all impolite. This
1s an example of
(a)  Self-fulfilling prophecy
(b) Kernel of truth
(c) Scapegoating
(d) Social cognition
Which one of the following is not a factor that will lead to attitude
change ?
(a) Message characteristics
(b) Environmental characteristics
(c) Source characteristics
(d)  Target characteristics
Page 13 of 23 P.T.0.
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g ot foreta-fopet JhR & T @ Telud gd & | 9 o oee &« #
IS BMd 7, A1 98 ThE TR 1 TWE BT 2

i) IR
i) fgctoeh
(i) ~ SHro=ieh
(iv) IHIT=TER

(@) (), (i) 3 [v)
(b) (i) 3R (iv)
(¢) (i) 3R (iid)
@ @, () IMy)

fFafaiea wea & 1fi@Ra (A) 1 Hee 31 38 91¢_deh (R) &1 e e

TR | (a), (b), (c), (d) § & T&l faehed FHT |

fpeT (A) : Glagataa Ofifeafn o = % W s= & 3=
grTioes-3TYes feafa & qfaml g Mie o foren s g, 3ehl

gfg TmTehi § Tt ghg feams ot 7 |
7% (R) : Tl S g o foeh™@ HI U <dT @ SEfh Y9 T TG
qINY], B! qIRATR JS8qH qe UEag® Rien-gien gig §
gilg et B |
(a) AR (A) q°1 Toh (R) M Hel & 3R b (R), 3TTha (A) 1 HEl
T 2 |

(b) AR (A) W B, Al Toh (R) T4 7 |
(c) 3R (A) TeId &, i deh (R) &1 2 |

(d)  ANTHA (A) T @b (R) GHI T&l 7, g aeh (R), AR (A) i Tt
=TT 7gt 3 |
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We all belong to different types of groups. What type of group will the

armed forces be if you join it ?

(1) Primary

(11)  Secondary

(i11) Formal

(iv)  Informal

(@) (), (iii) and (iv)

(b)  (i11) and (iv)

(c) (1) and (iii)

(d @), (1) and (iv)

In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Select the correct choice from (a), (b), (c), (d).

Assertion (A) : Children from disadvantaged homes, when adopted into
families with higher socio-economic status, exhibit a large
increase in their intelligence scores.

Reason (R):  Environmental deprivation lowers intelligence while rich
nutrition, good family background and quality of
schooling increases intelligence.

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is

correct explanation of Assertion (A).

(b)  Assertion (A) is true, but Reason (R) is false.

(c) Assertion (A) is false, but Reason (R) is true.

(d) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
Page 15 of 23 P.T.O.
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Qs 9

IMfed M Th Yaeh UH! AThIHeh HIATE! Al 8, NHE T ARRAT A1
T[S i gHeh] AT ThAM & Tehdl & | 98 THR Ml 1 3gE w7 | 3
TARIUT AT Hohd Hd B ? & T 3ThTHeh YhR & SAGERI hl IgE hilaTT |

(%) TH A A9 Sfed H I FIeHl (qEeATHT) 1 GHAT R & | 39
e fh 3UH 3= T % @@ &, 98 e T TR guiar 8 | -
ﬁ?ﬁwméﬁaﬁaﬁmuﬁﬁ%ﬁaﬂﬁ%?

3rera
(@) e = ATar-fudr g1 & | STele SAHaid 8T § 3R 3 ¢ A H 99
H oa%d 8 | @ Wl ANYL W AT Sl hi ATG I TEdl B | $ERI
T 3Heh ek TR W i QWIS a1 8 | 39 91 1 Al R 7§ ?
TEE & 31 HIdl ol IgE iy |

GHTCHe [Iehld ohl TISC ShITIT | Teh HaTelf G STIHT fhU T JTel FHTCH
faepfa w1 Tk 3qTETl AT |

THegqT hIfST foh 37T Tk Hicisl o DI &, S o1 <hl Jefeqagwey § I e
ITEd & | U UHT fshar w1 gerra Eife, S8 319319 ETfRN Sl shael WA
A Glie 3R 36 H9gH T 3en] Al TR i oh fTT ITANT AT qlleh
T T AYSITEAT G Teh |

31d: THg U9 oTe 9g H ST T HifT |

Qus 1

T 3 B T & wfer # qol-9¢ WE-9ed @ | W i o gt I bl
ST 8 3R 38 A1 1 T GIgU bl & ifehd 31 FAT T SAERA T¥A1 i g
TRl L GehdT, SEih RH 37 T W aria foreht Wt wwa =61 391 31 1 3T
F EA L Tohdl 7 | gFT E gfg T IGIH A 7, IHehl AT HINT | I7
fagra fore Iumm W eTraTia 7 ?

(\ o [} N

A Tl &1 aug & ot w3 fohdl o1 A aigel &l T

HITT |
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Section B

19. Adil, a young man, shows aggressive actions that threaten or cause harm
to people or animals and indulges in serious rule violations. What are
these symptoms indicative of ? Mention two other types of aggressive
behaviour. 2

20. (a) Ranjan has faced a lot of mishaps in his life. However, he shows low
levels of illness despite high levels of stress. What makes people
like Ranjan resistant to stress ? 2

OR

(b) Neerav’s parents have recently shifted to Bengaluru and have been
busy settling him in the new city. Neerav.-misses his friends back in
Nagpur and this has impacted his academic performance. What is
the source of this stress ? State the other sources of stress as well. 2

21. Explain cognitive distortions. Give an example of cognitive distortion that
a client might be experiencing. 2

22. Suppose you are a college student who wants to contribute towards the
country’s economy. Suggest a process that you will use to bring an
attitude change amongst your peers towards buying only Indian goods to
support the nation’s economy. 2

23. Differentiate between ingroup and outgroup. 2

Section C

24. Ryan and Shireen are siblings brought up in the same environment.
Ryan knows all the formulae in mathematics and can recall them as they
are but cannot solve problems based on those formulae, whereas Shireen
can use formulae to solve any kind of problem that are based on them.
Explain the intelligence they both exhibit. Which approach is this theory
based on ? 3

25. Explain any three psychological models used to understand mental
disorders. 3

63 Page 17 of 23 P.T.0.

Previous Pathshala




26.

27.

28.

29.

30.

31.

63

EE
=

(%) ‘Torell Tafrse fawa & ¥fd w =he 61 ARGR 30k HEER o faudia @l
ehdl & |’ |18T o A1 38 HUF hl s HINT |
AUAT
(@) o 3R fovamE Mg % T9F 81 8 |’ 39 %Y 1 |G SAre
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Hgh THITORIH g °h! Toh HEw@Ul 9¢&l & AR Bd & H 3Hehl = Heaid
& <l HeE & ¥ W ft g3 ® | wHg AR W Eehl 98 wew 7, % o=
&I AR T8 ?

Qs Y
(%) Trg ATed o JAAR Sifgeh hA SF==iya i dbeh a1 Efaeh
aat <hr fsparent g gutfea Bt 8 2 9vi hife |
HAAT
(@) ARk 1 HATERIdh THET §ig & [GRHd &l H Th HeH JGH Ll 7 |
HEHA I g o [0 4 TH T I HE T LA 8 2
TS HIT |

T P H I AT TR 6 |l hl 1Yo Ueh-fawTs foifey a= diai ¥ e &,
Safer forfesr gia-smg o @i Sl JFET 81 oW @ | sTfveras feufa o o= &t
oft @rai o dueh o T T g | fRe oft @ig 3 fafaa sgfsramd 3o v & |
FIet T % SAfhed o Mg grT 38 HH THIAT ST Tehal 8 ? 3h g W
TehTRl ST |

(%) uITERw ¥ g9E @1 § faed % e safwat 6 918 el Sied Siere g

HeY | forral IR e il bl T8 shifv |

AT
(@) 3= THAM, IW, 3MMfc Hs fHIET gara O gafed & dehdl & | TH
B U Uhd & OIU 89 @ e dobdlehl o SR H ST 8 ol

TRl B | 390 U fohegl =’ dehiepl ol Tas hifou |

AE 99 H Toh T HeT H IThiHsh IR faeddehil ¥agR L & & |
HANISE & Teh ST o &9 H g o AIgR bl G hid H AeS hid o foQ
3T foh qeheitent o1 gITa <l ?
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(a) ‘An individual’s attitude towards a particular topic may be contrary
to his/her behaviour.” Justify this statement with evidence.
OR
(b) ‘Values and beliefs are not the same as attitudes.” Explain this
statement with the help of examples.
Mehak is an important member of her Psychology group and has recently
been selected to be a member of the football team as well. What is the
main difference between the group and the team that she is a part of ?

Section D

(a) Describe the model which states that intellectual activity involves
the three interdependent functioning of neurological systems.

OR

(b) The cultural environment provides a context. for intelligence to
develop. How does the role of culture influence our understanding of
intelligence ? Explain.

A study found that one-third of British children, at age six, are afraid of
snakes even though it is rare to encounter snakes in British Isles. The
children had never come in contact with snakes in a traumatic situation,
but snakes still generated anxious response. How would Carl Jung’s
theory of personality explain the same ? Throw some light on his theory.

(a) To deal effectively with environment, the individuals must possess
the right life skills. Explain any four of these life skills.
OR
(b) Many ailments like hypertension, ulcers, etc. could be stress related.

To prevent this from happening, we need to be aware about stress
management techniques. Explain any four of these techniques.

An eight-year-old child is showing aggressive and disruptive behaviour in
the class. As a student of Psychology, what techniques would you suggest
to help modify the child’s behaviour ?

Page 19 of 23 P.T.0.

Previous Pathshala




32.

33.

34.

63

EE
=

Qs &

(%) ‘Hfchea ol THFH & foTT g forgal w1 U= foham T B | ==t hifie
fop =M 1 @ AR ol SAfhed o J&91 H aFiehd hid oh JIH HH
fopy 7w B |

Jrera
(@) WS % IR, AN JRAfIehdl ol fdehd L ’F I & Htd arcll
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HIgleH s 39 I IHT o QR THISSIT] 3N TR AT § 35 THER
% @y fahe ool ok garedl &1 ST T 3 d1deh vfasy & fau
TG S X M higd TohaT | S8 @I 38 dal THT T IUIH SR
ST, FETGHAT Sl THSHT 3R 398 ST SMHA o |

(%) wERE fea faer = Jehia & W@ 2 ? 30 WeiHar duishd fasr &
AT HINTT |
HAAT
(@) wEfm ¥ fgars ¢ aret e 39 fasr & 21fd TR 9 & 4 7 8 ?
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Section E

(a) A number of theories have been used to understand ‘personality’.
Discuss how efforts have been made to categorise people into
personality types since ancient times.

OR

(b) According to Freud, individuals avoid anxiety by using mechanisms
that protect the ego by distorting reality. What are these
mechanisms called ? Explain its different kinds with the help of
examples.

Section F
Read the case study and answer the question (Q. 33 — 34) that follows :

Mohsin, a 6-year-old boy, has difficulty in feeding and dressing
himself, but training from" his parents has helped him to be a little
independent. He faces trouble making friends outside his family and has
difficulty in dealing: with people in social situations. His parents are
always worried about him and are aware that he needs consistent level of
supervision in daily tasks. Mohsin’s brother understands his needs and
what he says but it is difficult for his peers to understand him as he lags
behind them in communication and language skills.

Throughout Mohsin’s journey, psychologists and health workers
focused on engaging his family in meaningful future planning using a
variety of strategies and resources. This included offering them ongoing
and timely information and assisting the family to understand and
connect to resources.

(a) Identify the disorder Mohsin is exhibiting. Distinguish it from

autism spectrum disorder.
OR
(b) How are the symptoms that Mohsin is exhibiting different from a

more severe form of that disorder ?

In order to understand Mohsin’s disorder, what do psychologists refer to

classify psychological disorders ?
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IAEAicTiEgd s e Ygeh 48 TT F941 (T. 35 - 36) & I FIi9rg
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Read the case study and answer the question (. 35 — 36) that follows :

When Srikanth Bolla was born, neighbours in the village suggested
that his parents smother him. It was better than the pain they would
have to go through their lifetime, some said. He is a “useless” baby
without eyes; being born blind is a sin, others added. Twenty-three years
later, Srikanth is standing tall living by his conviction that if the “world
looks at me and says, ‘Srikanth, you can do nothing’, I look back at the

world and say, I can do anything.”

Srikanth is the Founder and CEO of Hyderabad-based Bollant
Industries, an organisation that employs uneducated and challenged
employees to manufacture eco-friendly, disposable consumer packaging
solutions, which is worth ¥ 50 crore.-He considers himself the luckiest
man alive, not because he is now a millionaire, but because his
uneducated parents, who earned I 20,000 a year, did not heed any of the
‘advice’ they received and raised him with love and affection. “They are

the richest people I know,” says Srikanth.

We can see that Srikanth has the ability to adopt, shape and select the
environment. Identify the theory of intelligence that would best support

our understanding of Srikanth’s intelligence.

“Srikanth is standing tall living by his conviction that if the “world looks
at me and says, ‘Srikanth, you can do nothing’, I look back at the world
and say, I can do anything.” According to Gardner’s multiple theory of
intelligences, which kind of intelligence explains this ? Discuss this

intelligence in brief.
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